5FHDA
FEMA Louver | Chevron Blade FEMA 361 Grille REI]EIE
UL Listed

I APPLICATION

The 5FHDA is a stationary extreme weather louver with sightproof blades.
This louver is tested to FEMA 361 standard design and ICC500 specification
for large missile impact and can be mounted internally, externally or in
conjunction with other louvers with a 5" deep frame.

X\
I STANDARD CONSTRUCTION °
2" x 5 1/2" x 2" (51 x 140 x 51) channel 1/4" (6) X B
™~

Frame Thick Extruded Aluminum.
Blades 3" x3" x 1/4 (75 x 75 x 6) Thick Chevron Style
Extruded Aluminum.
5/8" x .040" (16 x 1) expanded flattened |
aluminum bird screen in removable frame. \
Bird Screen Screen adds approximately 1/2" (13) to louver A
depth. Screen required to meet spawlling . A
component to FEMA 361 standards. |
Finish Mill.
Minimum Size 12"w x 12"h (305 x 305).

Approximate 2
Shipping Weight 13 Ibs. per sq. ft. (193.5 kg/m?).
For 300 psf 48"w x 78"h (1220 x 1982).
For 230 psf 48"w x 90"h (1220 x 2286).

For 200 psf 48"w x 96"h (1220 x 2439).

Maximum Shipping
Section Size

Maximum Overall

Assembly Size Unlimited width x one section tall. I VARIATIONS
Variations to the basic design of this louver are available at additional cost.
They include:
I FEATURES + Extended sill

* Louver complies with FEMA 361 Design and Construction for Community  « Blank off panels
Shelters, Zone IV criteria, 250 MPH wind, 15 Ib. 2 x 4 impact at 100 mph

* Frame caps
for tornadoes P

» Optional finishes available at additional cost. Please see
Paint Finishes and Color Guide and Finish Type Model Chart for more
details. Contact louversales@reliable.com with questions

* Louver complies with FEMA 361 Design and Construction for Community
Shelters, Zone IV criteria, 230 MPH wind, 15 Ib. 2 x 4 impact at 100 mph
for Hurricanes

. R . .  Variety of screens and locations
* Louver mounted externally in combination with wall louver or by itself y

internally Consult Reliable for other special requirements.

* 50% Free Area

+ Tested to ICC500 (2020), FEMA Guideline P-361 (2021) FEMA Guideline
-320 (2014)

» This product is listed to applicable UL Standards and Requirements

NOTES:
- Dimensions in inches, parenthesis () indicate millimeters
- Units can be furnished actual size or with sizes deducts

Spec 5FHDA-0624/Replaces 5FHDA-0524 ALL STATED SPECIFICATIONS ARE SUBJECT TO CHANGE WITHOUT NOTICE OR OBLIGATION. © Reliable June 2024



https://www.reliablelouvers.com/Color-Chart
https://www.reliablelouvers.com/doc/Id/10126
http://louversales@reliable.com

| FREE AREA GUIDE

Free Area Guide shows free area in ft? and m? for various sizes of 5FHDA.

Width - Inches and Meters

12 18 24 30 36 42 48
0.30 0.45 0.60 0.75 0.90 1.05 1.20

12 0.28 046 0.64 0.83 1.01 1.20 1.38
0.30 0.03 0.04 0.06 0.08 0.09 0.11 0.13

18 0.49 0.81 1.13 1.46 1.78 2.10 2.42
0.45 0.05 0.08 011 0.14 0.17 0.20 0.23

24 0.76 1.27 1.77 2.27 2.78 3.28 3.79
0.60 0.07 0.12 0.16 0.21 0.26 031 0.35

30 0.97 1.62 2.26 2.90 3.55 4.19 4.83
0.75 0.06 0.09 0.12 0.15 0.18 0.21 0.24

36 1.18 1.97 2.75 BE58) 4.31 5.10 5.88
0.90 011 0.18 0.26 033 0.40 0.47 0.55

42 1.39 231 3.24 4.16 5.08 6.00 6.92
1.05 013 0.22 0.30 0.39 0.47 0.56 0.64

48 1.60 2.66 3.73 4.79 5.85 6.91 7.97
1.20 0.15 0.25 0.35 0.45 0.54 0.64 0.74

54 1.81 3.01 4.21 5.42 6.62 7.82 9.02
1.35 0.17 0.28 0.39 0.50 0.62 0.73 0.84

60 2.09 3.47 4.85 6.23 7.62 9.00 10.38
1.50 0.19 0.32 0.45 0.58 0.71 0.84 0.97

Height - Inches and Meters

66 2.30 3.82 5.34 6.86 8.38 9.90 1143
1.65 0.21 0.36 0.50 0.64 0.78 0.92 1.06

72 28511 4.17 5.83 7.49 9.15 10.81 12.47
1.80 0.23 0.39 0.54 0.70 0.85 1.01 1.16

78 2.72 4.52 6.32 8.12 9.92 11.72 13.52
1.95 0.25 0.42 0.59 0.75 0.92 1.09 1.26

84 2.93 4.87 6.81 8.75 10.69 12.62 14.56
2.10 0.27 0.45 0.63 0.81 0.99 117 135

90 3.14 5.22 7.30 9.37 1145 13.53 15.61
2.25 0.29 0.49 0.68 0.87 1.07 1.26 1.45

96 3.41 5.67 7.93 10.19 1245 14.71 16.97
2.40 0.32 0.53 0.74 0.95 116 1.37 1.58

Spec 5FHDA-0624/Replaces 5FHDA-0524 ALL STATED SPECIFICATIONS ARE SUBJECT TO CHANGE WITHOUT NOTICE OR OBLIGATION. © Reliable June 2024




| PRESSURE DROP

100  (248.9) 7 1.00
90 (224.01) / .90
80 (199.12) / 80
70 (174.23) 70
60 (149.34) 60
50 (124.45) / 50
L 40 (9956 / 40
o
c 30 (7467 30
© INTAKE
00 L
2 20 (4978) EXHAUST 20
(%]
1]
<
3]
£
£ 10 (24.89) .10
Q .09 (22.40) / .09
© 08 (1997 / 08
?_, 'SZ ((11‘::3 'gz Reliable Manufacturing Company certifies
5 ' ’ that the 5FHDA Louvers shown herein
a 05 (1249 05 are licensed to bear the AMCA Seal. The
&’ 04 (9.96) .04 ratings shown are based on tests and
) procedures performed in accordance with
B0 (4 03 AMCA Publication 511 and comply with the
& requirements of the AMCA Certified Ratings
02 (4.98) 02 Program. The AMCA Certified Ratings Seal
applies to air performance ratings and water
penetration ratings only.
01 (2.49) 01
8 € 8 § §833%8 § 3 § 587ERe
i it = = 2 2 codass
o o o o o O O 000 o o o O O OO0 00
g 8§ 8 § BE8BESE S 8 § gsgggss
o~ m wn o~ o

Air Velocity in feet (meters) per minute through Free Area

I WATER PENETRATION

Water penetration
Test size 48" wide X 48" high (1219 X 1219)
Beginning point of water penetration at .01 oz. /sq. ft. is
615 fpm (187 m/min).
30
(3.23)

.25
(2.69)

20
(2.15)

15
(1.61)

.10
(1.08)

15 min. test period

.05
(.54)

Oz. Water/ft?and (ounces water/m?) of free area

500 600 700 800 900
(152) (183) (213) (244) (274)

Free area Velocity in feet (meters) per minute
Standard air .075 Ib/ft’

Spec 5FHDA-0624/Replaces 5FHDA-0524 ALL STATED SPECIFICATIONS ARE SUBJECT TO CHANGE WITHOUT NOTICE OR OBLIGATION. © Reliable June 2024




I INSTALLATION DETAILS

1/8"
Gap

|

A —

L

1/8"
Gap

1/8"
Gap

P

———

Louver Ref
Waterstop Ref

| Hex Bolt 1/4-20 x 1 1/2" LG ZC
| Washer Flat: 1/4" ZC
Nut Nylock: 1/4 - 20 C

2" x 3" x 1/4" Thk x 8" Long
A36 HDG Attachment Angle
Factory Installed

Steel Framing Min Thk
12 GA Aluminum Framing Min Thk
1/4" Thk (NIC)

.

Hex Bolt 5/8-11 UNC 2" LG ZC
Flat Washer: 5/8"
Nut Nylock: 5/8" STD zC

6" Min

i

Flat Washer: 5/8"
Nut Nylock: 5/8" STD zC

Louver Ref
Waterstop Ref

Hex Bolt 1/4-20 x 1 1/2" LG ZC
Washer Flat: 1/4" ZC
Nut Nylock: 1/4" - 20 zC

2" x 3" x 1/4" Thk x 8" Long
A36 HDG Attachment Angle

Hilti Hit-Re 500-SD W/ HAS 5/8" Dia.
Threaded Rod 6" LG; (3 1/2" Min. Embed)

Steel Framing Min Thk 12 GA
Aluminum Framing Min Thk —1

1/4" Thk

Louver Ref — %

2

Waterstop Ref —

2" x 3" x 1/4" Thk x 8" Long

A36 HDG Attachment Angle —
Factory Installed

S.S.D. S.S.D.
(Max 48") (Max 48")
—»|e— 1/8" Gap 1/8" Gap
g & | & | (
r ) oo — o f
M
M
; } } ; Hex Bolt 1/4-20 x 1 1/2" LG ZC
Washer Flat: 1/4" ZC
1] Nut Nylock: 1/4 - 20 ZC
~a [
‘ L)1 - [ 1/8" Gap
[elli®}

STEEL INSTALLATION

-

(Max 48")

Hex Bolt 5/8-11 UNC 2" LD ZC
Flat Washer: 5/8"
Nut Nylock: 5/8" STD ZC

S.S.D. ,

y

<— 1/8" Gap

Hilti Hit Re 500 SD W/ HAS
5/8" Dia. Threaded Rod 6" LG;
(3 1/2" Min, Embed)

1/8" Gap]

Flat Washer; 5/8"

Nut Nylock: 5/8" STD zC

Louver Ref —(|

Hex Bolt 1/4-20 x 1 1/2" LG ZC

Z K

Washer Flat: 1/4" ZC

Waterstop Ref —

Nut Nylock: 1/4" - 20 ZC

1/8" Gap

»
k3
T+

Factory Installed N
1/8" Ly
Gap Min 2500 PSI o\
Compression Strength n, n " 1
Concrete (NIC) ¢ 2A3X63HDX<;1//;:t T:k X Ei AL°”|g A LMin 2500 PSI Compression
achment Angle Strength Concrete (NIC)
Factory Installed
CONCRETE INSTALLATION
Hilti Hit HY250 - 1/2" Threaded
Rod with Nut
o with B SSD. e SSD. b HexBolt 1/4-20 x 11/2" LG ZC
(Max 48") (Max 48") Washer Flat: 1/4" ZC
Hex Bolt 5/8-11 UNC 2" LG ZC —><— 1/8" Gap Nut Nylock: 1/4" - 20 ZC
Flat Washer: 5/8"
A Nut Nylock: " STD ZC
/ ut Nylock: 5/8" S o ° 1/8" Gap
1/8" [ 2" x L x 1/4" Thk x 8" Long (
Gap 1 A36 HDG Formed Angle Factory Installed [o ojlo Of f
M Hex Bolt 5/8-11 UNC 2" LG ZC
Louver Ref Louver Ref —| [ +—— Flat Washer: 5/8"
= Il Nut Nylock: 5/8" STD ZC
Waterstop Ref P 1 2
L.D. Hex Bolt 1/4-20 x 1 1/2" LG ZC Waterstop Ref — I!
. " A 11
Washer Flat: 1/4" ZC 1/8" Ga
Nut Nylock: 1/4"-20 ZC L ; P
2" x L x 1/4" Thk x 8" Long (e] Le]
2" x 3" x 1/4" Thk x 8" Long A36 HDG Formed Angle — f
j A36 HDG Attachment Angle Factory Installed o 2 o -
1/8" Factory Installed / 7 [>— Grout Filled CMU (NIC)
Gap A
4" x 6" x 1/2" Thk x 20"
Grout Filled | \_ 4" x 6" x 1/2" Thk x 20" Long Long A36 HDG Ship Loose
CMU (NIC) A36 HDG Ship Loose Hilti Hit HY250 - 1/2” Threaded
> le— 4 1/2" Min Rod with Nut
g
Min ]

CMU INSTALLATION

Spec 5FHDA-0624/Replaces 5FHDA-0524

ALL STATED SPECIFICATIONS ARE SUBJECT TO CHANGE WITHOUT NOTICE OR OBLIGATION.

© Reliable June 2024




I CONSTRUCTION

INFORMATION

Maximum Width - Unlimited

A

\4

Maximum Height
For 300 psf 78" (1982)
For 230 psf 90" (2286)
For 200 psf 96" (2439)

e EE—

Maximum Single Section
Width 48" (1220)

Ship <«——» Section

— ]

Louver —/

SHIP SECTION INFORMATION

1. Reference separate installation instruction sheets for installation details. It is the responsibility of the installing contractor to properly install the louvers

per the appropriate d

etail.

2. On special orders, Reliable may provide submittal and/or shop drawings. Reference these drawings for additional installation information.
3. Louvers wider than the maximum single section width will be shipped in multiple sections and will require field assembly. Field assembly is not by

Reliable.

© LINKS TO IMPORTANT DOCUMENTS

Document Title

Finishes and Color Guide

Limited Warranty Docu

ment

RELIBLE

1300 Enterprise Road, P.O. Box
580, Geneva, Alabama 36340
Tel: 334-684-3621

Tel: 800-624-3914

Fax: 800-508-1469

Spec 5FHDA-0624/Replaces 5FHDA-0524

ALL STATED SPECIFICATIONS ARE SUBJECT TO CHANGE WITHOUT NOTICE OR OBLIGATION.

© Reliable June 2024



https://www.reliablelouvers.com/doc/Id/6762
https://www.reliablelouvers.com/doc/Id/6729

